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MATHEMATICS
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Total Marks : 31
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Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1 (3 marks, 3 min.) [3, 3]

Subjective Questions (no negative marking) Q.2,3,4,5,6,7,8 (4 marks, 5 min.) [28, 35]

1. Given x2 – xy + y2 = 4 (x + y – 4), where x, y both are real numbers. The number of pairs (x, y)

satisfying the equation is

(A) only one (B) only two (C) three (D) None of these
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, where [.] denotes greatest integral function and {x} denotes fractional part of x.

6. (a) Whether function f(x) = 
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(b) If Domain of f(x) is [, 3) & g(x) =  + x + sin x, then find domain of f(g(x)).
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6. (a) Yes, f–1 (x) = 
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